
 

 
 
 
 
 
 

User program 
 
 
 
 
 
 
 
 
 
 
 
 

 

Interrupt 
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Which register in the figure is responsible for storing the 
address in memory for the next read or write? 
a) PC 
b)IR 
c)MAR 
d)MBR 
e)​I/O AR 



Memory CPU Registers 

PC AC 

IR 
 

 
 
 
 
 
 

300 1 9 4 1 

301 5 9 4 2 

302 2 9 4 0 

. 

. 

. 

. 

. 

. 

940 0 0 0 3 

941 0 0 0 5 

942 0 0 0 2 

3 0 0 

0 0 0 
2 

1 9 4 



0 
 

 
 

0001 = 
Load AC 

from 
memory 
0010 = 
Store AC 
to 

memory 
0101 = 
Add to AC 
from 
memory 

 
 
 
 
 
 
 

Given the above figure showing the first fetch instruction. 

What is the final result in AC and memory locations 940. 

 
a)​ 0003 

b)​ 0005 

c)​ 0002 

d)​ 0007 

e)​ 0008 



Given the figure going from bottom to top which of the following is correct: 

a)​Decreasing cost per bit. Increasing capacity. Increasing access time 

b)​Increasing cost per bit. Decreasing capacity. Increasing access time 

c)​Increasing cost per bit. Decreasing capacity. Decreasing access time 

d)​Decreasing cost per bit. Increasing capacity. Decreasing access time 

e)​Decreasing cost per bit. Decreasing capacity. Decreasing access time 

 

Top 



Bottom 



 
 

What does the following figure represent: 

a)​ SMP 

b)​ AMP 

c)​ Multi-core system 

d)​ DMA 



 

What does A in the figure represent? 
 
 
 
 
 
 
 
 
 
 

A 


	Memory 
	PC AC 
	What does A in the figure represent? 

